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Challenges

QID : 1 - For the mid values 30, 39, 48, 57 and 66 the second class of the distribution is

few aTw 7 AW 30, 39, 48, 57 3R 66 & fow faawor i gfad ofr &l

Options:
1)34-44
2)34.5-43.5
3) 33.5-44.5
4) 34 -45

Correct Answer: 34.5 - 43.5

Candidate Answer: [ NOT ANSWERED ]

QID:2-

The following frequency distribution is of which type?
FrafeieT st e e w27

Class / a9 Frequencv!ﬂTQ%l

0-5

4

0-10

7

0-15

11

0-20

16

0-25

23

Options:

1) Less than cumulative frequency

e e & A

2) More than cumulative frequency

e e &

3) discrete frequency distribution

3 Aghed faaor
4) Individual series
3TCTIT-3TeT3T el

Correct Answer: Less than cumulative frequency

Tl 3o @ A

Candidate Answer: [ NOT ANSWERED ]
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QID:3-
For how many days were the number of road accident patients
treated less than 4?
e Rt & forg 5w o 72 \s % gele & Ot o d=ar
4 T 417

Number of road accident patients treated by a hospital
emergency ward for 120 days are given below:

HETATT & AMGFEA IE @ 120 i &
fore gemer fFv v wIw ghear Al i dEr
IR &

Number of patients /
At fr FEar

Days / f&=r 11]16|21|23]20]|17| 7| 5

Options:
1)71

2) 48
3) 69

4) 46
Correct Answer: 71
Candidate Answer: 71

QID : 4 - In a pie chart depicting total expenses of a company for the year 2016, raw material had a central angle of 45°. If total expenses were Rs 504 Lakhs, what
were the company's expense on raw materials (in Rs lakhs)?

a¥ 2016 & TV Teh Sl & ol T I AU et dlel U1S TE & el Aol FT 450 HT HET HI0T AT| AT Fof <Y 504 oG & AT, 7 el Hel W 3H AT T T
(o & H) e ar?

Options:

1) 45

2) 112

3) 63

4)72
Correct Answer: 63
Candidate Answer: 63

QID:5-
How many employees get salaries less than Rs 30,0007

firdar el &7 30,000 I F HH daT fFerar &2

The following data shows salaries of all the employees of a
company.

AT Ai5s TF 9 F Tl FAaEl F 3 9T

g ¥
salmey usifs b 0- [10,001-| 20,001 - | 30,001 - | 20,001 -
Fa=T (T H) 10,000 | 20,000 | 30,000 | 40,000 | 50,000
Number of
Employees /

. : 235 105 50 40 20
FATET & §Ed
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Options:
1) 0.756

2)0.78
3) 0.867

4)0.72
Correct Answer: 0.867
Candidate Answer: 0.867

QID:6-
What is the frequency density of the class 20 - 407

FHT 20 - 40 T ST F977 74T 27

Class / @ 0-10 | 10-20 | 20-40 | 40-60
Frequency /3Mgfet | 1 | 15 | 14 8

Options:
1) 1.4

2)2.8
3)0.28

4)0.7
Correct Answer: 0.7
Candidate Answer: 0.28

QID:7-

The following data shows runs scored by a batsmen
in 72 matches that he played in his career.

fmafaf@a w2 & aedars g@rr 72 A4t
# Toe @ F g § S sEd e

IelfA®T & @ 9
95 23] 60| 26| 34 113 @2
103 84 32 90| 118 b2 7

5 45 51 14 68 83 87
98 116 86 36 103 102 23
36 83 22 74 28 12 56
24 5 17 45 7 83 88

How many times did he score less than 25 runs?

Tohaeit 9T Svaiv 25 T7 & &+ ThiL f3Ar?

Options:
1)9

2)8
3)7

4) 11
Correct Answer: 11
Candidate Answer: 11

QID : 8 - Find the harmonic mean of 3, 6 and 10.

3, 6 31X 10 T gUcHS ATET ATT HL|
Options:

1) 6.33

2)5

3)5.6

4) 4.5
Correct Answer: 5
Candidate Answer: 5
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QID:9-

Identify the two unknown frequencies in the following
table if the mean of the values is 21.57

FafafaT aroft § a7 a9 agi=ar & 9999 %4, 9% 30
AT 21,5 22

Class / g1 Frequency / 3mgfec

0-10 f1
10-20 12
20-30 f2
30-40 8

Total / el 40

Options:

1) 5and 15

53R 15

2) 10 and 20

10 3R 20

3)5and 10

53R 10

4) 10 and 15

10 3R 15

Correct Answer: 5 and 15

53R 15

Candidate Answer: 5 and 15

53X 15

QID : 10 - Calculate the median using the following data.

Lower class boundary of the median class = 40

Total frequency = 120

Frequency of the median class = 35

Less than cumulative frequency of the post median class = 37
Class width = 20

rafaf@d 3ewst ST 3TRNT Fh ATEIH I 0T HY|

FfegeRT et fr el aof & = 40

Fel JTgicd = 120

FTfege @9t i amgfed = 35

TR HIfegeT @97 & et 3rgfed & & = 37
gat fr disrs = 20

Options:

1) 48.23

2) 49.14

3) 54.23

4) 53.14
Correct Answer: 53.14
Candidate Answer: [ NOT ANSWERED ]
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QID:11-

Use the following table to find the mean.

HTET HTT FLA o (ol (Faferad gruT & 399 AT H

Age (inyears)/ | Number of Students /

37 (41 #H) BE T &

0-5 80
5-10 120
10-15 160
15-20 40
Total / el 400
Options:
1) 8.5
2)7.5
3)9.5
4) 10.5

Correct Answer: 9.5
Candidate Answer: [ NOT ANSWERED ]

QID:12-
Find the mode from the following table.
FraferfaT areit & ago® 919 Hi)

Class / @ | Frequency / 3Tt
0-10 15
10-20 25
20-30 30
30-40 20

Options:

1) 24.44

2) 23.33

3) 25.55

4) 26.66

Correct Answer: 23.33
Candidate Answer: 26.66

QID : 13 - Compute the standard deviation of the following numbers:
5,6,4 and 2
Trafaf@a aEamsit & A Ao T 3101

5,6,43k2

Options:
1)1.7

2)2.7
3)1.2

4)2.2
Correct Answer: 1.7
Candidate Answer: 1.2

QID : 14 - Calculate the standard deviation if the mean of a certain set of observations is 20 and the mean of the squares of the same observations is 500.

HATesh farelet T IT0TAT Y AT 3raciiehed & Tk AT Te T ATEY 20 § 317 3787 3rgelishsT & aait &1 ATET 500 &1
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Options:
1)5

2) 20
3) 10

4) 25
Correct Answer: 10
Candidate Answer: 5

QID : 15 - Calculate the coefficient of range for the following set of data.
3,6,6,8 9and 12
3RSt & fAFTToIId Tag o foIT HAT o [OTieh T 0T HY |

3,6,6,8, 9312

Options:

1)22.2

2) 44.4

3)50

4) 60

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 16 - The mean and variance of the marks of Division 1 which has 60 students is 45 and 4 respectively and the mean and variance of the marks of Division 2
which has 40 students is 55 and 9 respectively. What will be the variance of the marks of the two divisions combined?

fBdIeTeT 1 & 37 o1 Arey 3R fa=RoT, f5as 60 o §, A 45 31K 4 § 317 Bdee 2 & 37 #1 Ay 3R Rwkor, 59 40 o7 §, Faen: 55 31k 9 8 o= Bde=r &
TYF 3R] T TrEROT AT G192

Options:

1) 30

2) 20

3) 10

4) 40
Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

QID : 17 - If the mean of a certain set of data is 16 and variance is 4 then find the coefficient of variance.

T 3Hiehsl & Tk AR e o1 Aey 16 & 3N F=RoT 4 &, A Fa==oT &1 0T AT Y|
Options:

1) 25

2) 125

3) 10

4) 20
Correct Answer: 12.5
Candidate Answer: 12.5

QID : 18 - If a set of points represent probability density, then the third central moment is the

e 3ieht T T VT UTFRARAT Ueled T AT ST &, ar dRRT FEr &7o7 gl
Options:

1) skewness

fooTae (Fargee)

2) kurtosis

S (Feffaw)

3) mean

HIET

4) variance

faRor

Correct Answer: skewness
feRaTIeT (FFgrd)

Candidate Answer: skewness

foRBIIe (FFgad)

QID : 19 - Which formula represents the 2"d moment around the mean?

T AT G ALY 3 AT GEY &70T T Gl Tica Hear 82
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Options:
1) 3(x; - py)?
2) Vz(x; - py)?
3) 3(x% — 1)
4) V 3(x? - )
Correct Answer: 3(X; — liy)2
Candidate Answer: V(x; — Liy)?

QID : 20 - Calculate skewness using Bowley's formula given lower quartile, upper quartile and median values of a data set are 16, 40 and 24.

ST o T T ST X EC FoRDTIA (FFGIH) T IT0TAT B, Teh 3Hiohel & He o foleet Tgeieh, S Tqeien 3R aATfearent a4 sl 16, 40 3R 24 &

Options:
1)0.33

2) 0.44
3) 0.55

4) 0.67
Correct Answer: 0.33
Candidate Answer: [ NOT ANSWERED ]

QID : 21 - What is the mean of a data if its Pearson's coefficient of skewness is 0.25, standard deviation is 6 and mode is 18?

3RS ohT ATEY &1 §, I 58 TITheT & foReTueT (TFge1d) o I[UTich 0.25 §, Heleh faarelat 6 § 31 Sge 18 &
Options:

1) 16.5

2)10.5

3)215

4) 19.5
Correct Answer: 19.5
Candidate Answer: [ NOT ANSWERED ]

QID : 22 - Which condition has to be met to say that a series has positive skewness?

&Y 98 Sl H U FHNIcHS [cNoTI (FHIH) 8, T Hoal & T, Fiet A TFAf g giedr =nfgw?
Options:

1) Mode > Mean > Median

SgeIH > LT > AT

2) Median > Mode > Mean

AITETH > Sgereh > AL

3) Mode > Median > Mean

SgeIh > HITAH > AT

4) Mean > Median > Mode

ALY > FICAH > Fgorh

Correct Answer: Mean > Median > Mode
AT > AT > gerh

Candidate Answer: Mean > Median > Mode
ATET > AT > SgeIh

QID : 23 - The kurtosis of any univariate normal distribution is

el ofr fordaT Wy faraoT 7 e (Feffaw) BT &l

Options:
1)2

2)3
3)1

4H0
Correct Answer: 3
Candidate Answer: 0

QID : 24 - Characteristics of a leptokurtic distribution are

ATy fareRoT & waror gl
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Options:

1) 1)Positive excess kurtosis, 2) Slender in shape and 3)Fatter tails

1) FhRTcHH TR Feped (FIA), 2) AR F gde 3R 3) #é ¢
2) 1)Negative excess kurtosis, 2) Slender in shape and 3)Fatter tails

1) FAhRTcH HANFS Fepear (FIH), 2) 3THR & dgaer 3R 3) A @
3) 1)Positive excess kurtosis, 2) Thicker in shape and 3)Thinner tails

1) FRTcHH TR Feped (FIA), 2) TR & #Aer AR 3) Tefeh §&
4) 1)Negative excess kurtosis, 2) Thicker in shape and 3)Thinner tails

1) FAhRTcH HANFS Fepear (FeIf@H), 2) 3THR A A 3R 3) el &
Correct Answer: 1)Positive excess kurtosis, 2) Slender in shape and 3)Fatter tails
1) FHRIcHS TR Fpedm (FIRAE), 2) 3w F gdem AR 3) A ¢z
Candidate Answer: [ NOT ANSWERED ]

QID : 25 - Coefficient of Kurtosis By = , Where [, and g4 are the second and fourth moments about mean.

Feped (FEfTaw) B, T Ut = , STET pp 3R pg ATET F IR F g 3R A a7o1 §)
Options:
1) py/pg?

2) u4?/uz
3) pa/up?

4) 1o%/ug
Correct Answer: [14/}152

Candidate Answer: [152/j14

QID : 26 - Find the coefficient of correlation if the two regression coefficients are 0.5 and 4.5.

i 2t JicaTeeT IuTish 0.5 3 4.5 &, A Fewser T JoTieh A1l F|
Options:

1) 1.5

2)25

3)3.5

4)2.25
Correct Answer: 1.5
Candidate Answer: [ NOT ANSWERED ]

QID : 27 - Pearson's correlation coefficient = . (S represents standard deviation)

TR T HEHe T = (S A1 faaere 1 gfafaficd Hiar g)

Options:
1) (Sx.Sy)/Covariance(x,y)

(Sx-Sy) / FEIEIOT (X,Y)

2) Covariance?(x,y)/(Sx.Sy)
FETRI (x,y) / (Se:Sy)

3) (Sx.Sy)?/Covariance(x,y)

(Sx.Sy)? | TESHT (X, y)
4) Covariance(x,y)/(Sx.Sy)

HEIHIT (X,Y) / (Sx-Sy)

Correct Answer: Covariance(x,y)/(Sx.Sy)
HETEIT (%) / (Sx-Sy)

Candidate Answer: Covariance?(x,y)/(Sx.Sy)
TETET (x,y) / (Sx:Sy)

QID : 28 - The range of values that coefficient of correlation can take are

At 1 JOR S FEHAY FAUIE A TR, §
Options:

1)0<r<+1

2)-1<r<+1

3)0<r<+1

4)-1<r<+1
Correct Answer: -1 <r < +1
Candidate Answer: 0 <r < +1
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QID : 29 - Spearman's rank correlation coefficient is given by .

TR 1 i Teway oE EaRT T ST #
Options:
1) 1 + 63di%/[n(n?-1)]

2) 1 - 65d/[n(n?-1)]
3) 1 - 63d2/[n(n2-1)]
4) 1 + 63d/[n(n?-1)]

Correct Answer: 1 - GZdizl[n(nz—l)]
Candidate Answer: 1 - 65d;2/[n(n?-1)]

QID : 30 - If Coefficient of correlation r = 0.5 then coefficient of non-determination is

I FEHS T AU r = 0.5 §, ar IX-fvefior & ot gl

Options:
1) 0.5

2)0.25
3)1

4) 0.75
Correct Answer: 0.75
Candidate Answer: 0.25

QID:31-Ifx=3u+ 1andy = 4v + 2 and the regression coefficient between u and v is 1.2, then find regression coefficient between x and y?

I x = 3u + 1 3Ry = 4v + 2 3R u 3R v & o &1 GiAeTe= ot 1.2 §, a1 x 3R y & drer o1 Gierse ot A1 12

Options:
1)0.8

2)1
3)0.9

4)15
Correct Answer: 0.9
Candidate Answer: [ NOT ANSWERED ]

QID : 32 - Calculate the correlation coefficient between the following values :

12 L 7y

x:3,51,7,5
v:4,3,0,8,2

4) 0.6
Correct Answer: 0.8
Candidate Answer: 0.8

QID : 33 - If the sum of the squares of difference of ranks of 6 candidates in two criteria is 21, the rank correlation coefficient is

T &Y AAEST H 6 ARt & A0 & 3iaR & gelf &1 2T 21 8, o Aol gedaer quiis gar gl

Options:
1) 0.5

2) 0.6
3) 0.4

4) 0.7
Correct Answer: 0.4
Candidate Answer: [ NOT ANSWERED ]
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QID : 34 - If 4y = 15 + 6x is the regression line of y on x, and coefficient of correlation between x and y is 0.9, then regression coefficient of x on y is equal to

I 4y = 15 + 6x, x Ty H1 GfarateT 1@r § 3R x 3R y & o 7 Fgdaer ot 0.9 8, 'y 0 x T FicarsA ot % SER g &

Options:
1) 0.54

2) 0.45
3) 0.81

4)0.72
Correct Answer: 0.54
Candidate Answer: 0.81

QID : 35 - Find regression coefficient of y on x (byx) if correlation coefficient between x and y values is 0.75 and standard deviation of x and y are 5 and 6.4
respectively.

I x 3R y A= & S Fedae qonh 0.75 § 3R x 3R y 1 Aotk [@ereret e 5 3R 6.4 8, a6 x (byx) TRy &7 ST qonieh AT i |

Options:
1) 0.96

2) 0.59
3) 1.04

4) 1.7
Correct Answer: 0.96
Candidate Answer: 0.59

QID : 36 - If a box contains 4 red balls and 6 blue balls then what is the probability of picking 2 balls of the same colour?

FiE Tk 3o 3 4 ATel 37¢ 3R 6 Aol 37 &, A Ueh €1 3T o 2 Il T Golod T IR FT 87

Options:
1) 8/15

2) 12/25
3) 13/25

4) 7/15
Correct Answer: 7/15
Candidate Answer: 7/15

QID : 37 - A doctor finds of all patients that visits his clinic the probability that a patient is alcoholic given that the patient has liver disease is 0.08. The probability
that a patient is alcoholic is 0.06 and the probability that a patient has liver disease is 0.12. Find the probability that a patient has liver disease given that he or she is
alcoholic?

Wmﬁwm%ﬁsﬁaﬁaﬁmmﬁaﬁmﬁmﬁMﬁwﬁmﬁa@?@mﬁﬂ?ﬁtqmﬁrgﬁﬁmo.osm g Wi Ashar & et
RIS & 0.06 ¥ 3R &g WTishalr T el T Iehel W97 0.12 B ugaaﬁguﬁ?a?ﬂ?ﬁ%m%ﬁmwwﬁﬁﬁmmaﬁ?

Options:
1) 0.04

2) 0.09
3)0.16

4) 0.24
Correct Answer: 0.16
Candidate Answer: 0.16

QID : 38 - What is the probability that a number selected randomly from 1 to 500 is a multiple of 3 or 7?

Ig Wiiedr &1 § 7 1 & 500 deh 3ifaaffa dor & waferd dear 3 a1 7 i ot 87

Options:
1) 0.428

2) 0.474
3) 0.512

4) 0.576
Correct Answer: 0.428
Candidate Answer: 0.428

QID: 39 - If P(A) = 2/3 and P(B) = 5/8 and find probability of only B occurring if probability of only A occurring is 1/6?

It P (A) = 2/3 3R P (B) = 5/8, aY shael B 8leY I UITAehdlT AT &, Tfe; haet A glet T wifdshar 1/6 &2
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Options:
1) 1/8

2) 1/9
3) 1/6

4) 2/9
Correct Answer: 1/8
Candidate Answer: 2/9

QID : 40 - Find P(A'/B"), given P(A) = 3/4, P(B) = 9/20 and P(ANB) = 1/4?

P(A'/ B JITa &, feam amar P(A) = 3/4, P(B) = 9/20 31k P(ANB) = 1/4?

Options:
1) 1/20

2) 1/9
3) 1/11

4) 1/12
Correct Answer: 1/11
Candidate Answer: 1/11

QID : 41 - A and B are independent events. The odds in favour of A and B are 1:1 and 3:2 respectively. Find the probability that only one of the two events occurs?

A 3R B Tad¥ gt €1 A 3R B o T & 3iaR e 1: 1 33 3 : 2 §1 37 widehar i @i Y & 31 & geansit & ¥ Fao v & gfed aidr 82

Options:
1) 0.6

2)0.7
3)0.8

4)0.5
Correct Answer: 0.5
Candidate Answer: [ NOT ANSWERED ]

QID : 42 - There are five cards with the numbers 1,3,5,6 and 9. Find the probability that a 5 digit number formed by using these cards is divisible by 4?

AP 1, 3, 5, 6 31R 9 arer i ged &1 39 WRASAT A AT Y & 5T Teal ol 3TANT e F=TTs 15 5 37! i T&AT 4 T o= 8
Options:

1)0.1

2)0.3

3)0.2

4) 0.4
Correct Answer: 0.2
Candidate Answer: 0.2

QID : 43 - If 3 dice are thrown what is the probability of getting same digits on atleast two dices?

Ife 3 I %ok ST & Y el T el &1 Ul X THTST 37ehi 3 gy sl Tl T 872

Options:

1) 1/36

2)7/36

3) 27/216

4) 1/6

Correct Answer: 1/6
Candidate Answer: 1/6

QID : 44 - In a family of three children what is probability that the third child is a girl given that the other two are also girls?

et st el vk IRAR A g @ gU ok gEr a S o wrsfeha § A 7g ashar & & b e see off veh orshr & 8

Options:
1) 1/3

2)2/3
3) 1/4

4) 1/6
Correct Answer: 1/4
Candidate Answer: 2/3
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QID : 45 - A, B and C are three mutually exclusive and exhaustive events. P(A) = 2P(B) = 6P[C). Find P(B).

A, B 3R C i RER 31573 3R Tt gead §1 afE P(A) = 2P(B) = 6P[C), & P(B) 7T &I
Options:

1)0.1

2) 0.3

3)0.6

4) 0.4
Correct Answer: 0.3
Candidate Answer: 0.6

QID: 46 -
Find the expected value of a random wariable which has

the following probability distribution?

T AF AT 9 B AT ATT AT He. (0GgH A ead
EUEETI R EREAE-TS

X: 2 4 6 8 10
P: 01| 03| 04| 01| 01

Options:
1)5.2

2)5.4
3)5.6

4)5.8
Correct Answer: 5.6
Candidate Answer: 5.6

QID : 47 - In a box of 100 bulbs 30 are defective. What is the probability of getting more than 2 defective bulbs if 5 are chosen randomly from the box?

100 Feat & Te s 7 30 ArweT §1 2 § 377 oot ot @ gred Fet T Tiear FAT §, 3R 5 i Sted § AR Sor & oA S 82

Options:
1) 0.124

2) 0.213
3) 0.264

4) 0.163
Correct Answer: 0.163
Candidate Answer: [ NOT ANSWERED ]

QID : 48 - The mean and variance of a binomial distribution are 5 and 4 respectively. What is the probability of success?

T gfaug faawer 1 A AR A T wAer: 5 3R 4 &1 Thear S arfdedr 2 7

Options:
1) 0.3

2)0.2
3) 0.4

4)0.1
Correct Answer: 0.2
Candidate Answer: 0.2

QID : 49 - If the mean of a Poisson distribution is 9 then its variance is equal to

e qraTeT faeRoT &1 A8 9 &, oY SHeT fadelel & TS g &

Options:
1)3

2)9
3)6

4) 81
Correct Answer: 9
Candidate Answer: 3
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QID : 50 - Find the mean of x if x is a Poisson variate satisfying the condition P(3) = P(4)?

X T HIET A 9, AT x T rdler dRue & S P(3) = P(4) el &1 dgse atar 82

Options:
1)2

2)8
3)4

4) 16
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 51 - For a standard normal distribution P(-1 <z < 1) =

Teh AlT® AT [AROTP(-1 <z < 1) =

Options:
1) 0.68

2)0.34
3) 0.9

4) 0.49
Correct Answer: 0.68
Candidate Answer: 0.68

QID : 52 - If x follows normal distribution with mean = 20 and variance = 25. What is P(x > 25)? Given P(z < 1) = 0.841, P(z < 2) = 0.977

Jfe x, ATET = 20 3R FTROT = 25 & AT A TR0 &7 ITeied T g1 P (x = 25) Far 82 GAT =T g P(z < 1) = 0.841, P(z < 2) = 0.977
Options:

1) 0.023

2)0.16

3)0.32

4) 0.046
Correct Answer: 0.16
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - 10% of people in a village are afflicted with a viral disease. What size of sample should be taken to ensure that error of estimation of the proportion is
not more than 5% with 95% confidence?

T MG F 10% AT arRer SRl & NS &1 95% HIcATIRET o Y g Gl Rercl el oh ToIT 3 A T AR FT ferdm ST =RV ok 31eqaret o 3fegaret v I
5% ¥ 310 7 8

Options:

1) 138

2) 238

3)38

4) 338
Correct Answer: 138
Candidate Answer: 238

QID : 54 - A random sample of 100 articles from a large batch of articles contains 10 defective articles. What is the standard error of estimation of the sample
proportion?

FEIT & Tk 93 S % 100 a3 3TAITAT o1 F 10 qol aEqC &1 AHAT U & AT T Hiefeh T FT 82

Options:
1) 0.02

2) 0.01
3) 0.04

4) 0.03
Correct Answer: 0.03
Candidate Answer: 0.01

QID : 55 - A statistician estimated that the standard deviation of her measurements is 2 cm. What should be the size of the sample in order to be 99% confident
that the error of her estimates of mean does not exceed 0.43 cm? (z* = 2.58, for 99% confidence level)

T HIEARITAE o AT AT & T 3H® AT 7 AleTeh farerelal 2 . §1 99 % SOVHS g1l & TIT 31 &1 TR FAT GIeAT AR hT 3Heh AEF FHT AT 0.43 Ja,
& 317 o 817 (99 % TcATIEN &R & folv z * = 2.58)
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Options:

1) 144

2) 121

3) 169

4) 196

Correct Answer: 144

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - The standard error = . (s is the standard deviation of the sample, N is the population size, and n is the sample size. N >20n)

AT e = (s T T AT fITelT §, N STTEHEAT 7 3HR §, 3 n FH{e 7 3THR g1 N> 20n)

Options:
1) s/Vn

2) s/VN
3) V(s/n)
4) V(s/N)

Correct Answer: s/vn
Candidate Answer: V/(s/n)

QID : 57 - A random sample of 2 items is picked out from a population of 15 items. The number of all such samples is

15 TEI3T hT JTSTET & 2 TE3HT T Teh G TAT oA A7 717 & | O |l 3ot oy e gl

Options:
1) 105

2) 60
3) 210

4) 90
Correct Answer: 105
Candidate Answer: 105

QID : 58 - The average length of a sample of 50 leaves measured by a botanist was 40 mm with a standard deviation of 21 mm. Assuming normal deviation find the
limits which have a 95% chance of including the expected length of the leaf.

Fereafafae, garT A 31§ 50 Tedt S v AT o 21 TAANHY & AT faaelst & @2r 40 e o Wﬁmﬁmﬁg@,sﬁmﬂnﬁaﬁmﬁm
TS & 3T TS T AT et T 95% FHTAT Brell &1

Options:
1) 42.35-37.65

2) 34.12 - 45.88
3) 43.12 - 36.88

4) 44.58 - 35.42
Correct Answer: 34.12 - 45.88
Candidate Answer: 42.35 - 37.65

QID : 59 - The 95% confidence level limits to a population mean are 94.12 - 105.88. Find population standard deviation if sample size is 100.

HTSIET AT & 95% HTeATIRETE FX T HIAT 94.12 - 105.88 & AT AF T ITHR 100 B, o STAHEAT AeTeh faerolet Al |

Options:
1) 15

2) 30
3)45

4) 60
Correct Answer: 30
Candidate Answer: 15

QID : 60 - In a particular study if the sample size was 50, then standard error was 8 units. How much would be the standard error if sample size was increased to
200?

Teh faRIY 3TeeT # AT e T IR 50 AT it AeTeh e 8 Sohrsal Af| AT AHeT o 3R FT 200 Teh F&T &1 ST §, A #Hiefeh Jie et gref?

Options:
1)4

2)2
3) 16

4)8
Correct Answer: 4
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Candidate Answer: 2

QID : 61 - A random sample of 200 articles taken from a large batch of articles contains 15 defective articles. What is the estimate of the sample proportion of
defective articles?

FEIT o 93 STcd F ol 1S 200 FEIN 6 Ueh HTAAFAS 7ot & 15 2ITY0T a€qU AMTAel &1 SrqeT a&3il & o) & HeaTe T JeTHATT FT 82
Options:
1) 0.186
2) 0.054
3) 0.0186

4) 0.54
Correct Answer: 0.0186
Candidate Answer: [ NOT ANSWERED ]

QID : 62 - A factory manufactures 10,000 bolts per day. From a sample of 500 bolts, 4% were of unacceptable quality. Estimate the interval of number of bolts that
would be of unacceptable quality produced per day at 95% confidence.

Teh FHRETAT FfctfeeT 10,000 ST =TT 81 500 sTee & e & 4% 3rEdienrd J0Taced arel Al 95% HcATILAE T TicT feeT 3redehrs) JuTaea alel siee T H&aT i
TSl AT Y|

Options:

1) (313, 487)

2) (305, 495)
3) (328, 472)

4) (233, 567)
Correct Answer: (233, 567)
Candidate Answer: (233, 567)

QID : 63 - The mean pay of 15 H1-B visa holders was found to be Rs 65 lakhs/yr with a standard deviation of Rs 6 lakhs. What are the 99% confidence limits (in Rs
lakhs) for the mean pay of the population of H1-B visa holders assuming it to be normal? (The upper 0.5% of t-distribution with 14 degrees of freedom is 2.98)

15 T 1-B &SI YRepT ST ATET dcdeT 6 G & & HIeTeh [qeelel & HTY 65 oG T / I T IIT 1T &T| a‘gm:amaﬁgtrw 1-B @IS YRl T STATEAT & ATEYT dcleT
& forw 99% 3mrcAfaRara T (e ¥ ) a1 €2 (14 29t Tad=ar & aryr t-faaRor &1 S 0.5%, 2.98 &)

Options:

1) (61.88 , 68.12)

2) (60.22 , 69.77)

3) (62.55, 67.45)

4) (59.33, 70.67)

Correct Answer: (60.22 , 69.77)
Candidate Answer: [ NOT ANSWERED ]

QID : 64 - The standard error of the mean decreases if the population standard deviation

AT Y HleTeh i T §, AT STAGET Al e I
Options:

1) increases or if sample size increases

TG § AT TG e T HFR TGl ©

2) decreases or if sample size increases

o AT § AT TG e T AR 96T &

3) decreases or if sample size decreases

U ST § AT AT AHA T 6N HA 81 Sl §

4) increases or if sample size decreases

I S § A7 AR T T HTHR FH B A §

Correct Answer: decreases or if sample size increases
HT ST § AT A A T TN Fecl &

Candidate Answer: decreases or if sample size increases

Te S § AT AR AH T IFR Tl &

QID : 65 - A confidence interval increases in width as the

T ATATIRAT 3eRTel ASTS 7 9¢ Sram &, 3 & I
Options:

1) sample size is increased

A HT HHR TG ITAT &

2) degrees of freedom is increased

T i f33ft 9 A §

3) level of confidence increases

IHTcATIRATH T TR 9 ST &

4) sample standard deviation is decreased

FH T AT Ta<ToleT o G IAT &
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Correct Answer: level of confidence increases
3CATITTH I TR §6 AT &
Candidate Answer: degrees of freedom is increased

Tadr & {33 9 ST

QID : 66 - What is the value of the z-score for x = 125 if population mean and variance are 121 and 4 respectively.

x = 125 & AT z- TR HT AT F4T &, RS IMEIET 1 ATey 3R FeRor waver: 121 3 4 )
Options:

1)2

2)1

3)-2

4)-1

Correct Answer: 2

Candidate Answer: -1

QID : 67 - In statistical hypothesis testing, a type I error is the a false null hypothesis
TR TR &0 #, G [ 1 e T 3781 R aRehed=1r 81
Options:

1) incorrectly retaining of a true null hypothesis, while a type II error is incorrectly retaining

el &I/ Teh Tl Refed IRFETAT T TAC TG AT &, STaifeh Foh 11 3 ITeied ST & Fel1e el &

2) incorrect rejection of a true null hypothesis, while a type II error is incorrectly retaining

s ged Read aRaeds1 &1 aTerd 3, Stafd gehr 11 I aTea &9 § a=me @ g

3) incorrect rejection of a true null hypothesis, while a type II error is incorrect rejection

T Fed R IReeuaT &Y e 3edispicl, STafeh YR 11 qfe reid sredipfal §

4) incorrectly retaining of a true null hypothesis, while a type II error is incorrect rejection

s ged Read IR@ed1 #1 aTerd ol @ FeA10 1T, STafdh G 11 e arere sredipfal &

Correct Answer: incorrect rejection of a true null hypothesis, while a type II error is incorrectly retaining

T ged Rercd IReedAT T Tt IR, STefeh T 11 e i 9 F F=A10 @ &

Candidate Answer: incorrect rejection of a true null hypothesis, while a type II error is incorrectly retaining

T e e IReEed=T T i 3REdIhid, STafeh T 11 e el 9 F F=A10 W@ &

QID : 68 - If, Sample from Population #1:
3,58

Sample from Population #2:

2,48

Sample from Population #3:

3,6,7

Then what is the number of degrees of freedom of treatment?

I, STTEEAT & AT # 10
3,58

SIAHET § AHAT # 2:
2,48

SIAEEIT § AHAT # 3
3,6,7

ar R TR i Taaar $r 33 Hr dear Far §?
Options:

1)3

2)1

3)4

4)2
Correct Answer: 2
Candidate Answer: 2

QID : 69 - If we have to test if there’s a difference between two groups of patients from different hospitals trying two different therapies, then we need to use

IfE o TETOT e §, T 3roTar-3reteT 3Tl # T 37eTdT-37019T ITAR T AT Y T aF VA & TGl & i AW g, A g ST 3TN I T
3TILTHAT B

Options:

1) Two way ANOVA without replication
yferepfer & et &) ake & wattar

2) One way ANOVA with replication
IR & TTY T aE & Tear

3) Two way ANOVA with replication
gfdiepfel & @Y &l oke & weirar

4) One way ANOVA without replication
Ty el T avE & vetar
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Correct Answer: Two way ANOVA with replication

wfarefer & |rer &t oe & wettar

Candidate Answer: Two way ANOVA with replication

fcrpfel & @rer &l kg § Terar

QID : 70 - If confidence level is 90% then two tailed alpha would be %.

T cATILETE T T 90% § & & I aTell 1o % B

Options:
1) 10

2) 45
3)25

4)5
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]

QID : 71 - The smaller the alpha level, the the null hypothesis.

37T TR o= BleT &, R aRereas greft|
Options:

1) greater the area where you would reject

3170 & 310 817 FTET 39 ISR HET

2) smaller the area where you would reject

BICT 817 8T 3T EAHR Hear

3) smaller the area where you would accept

BYeT 817 g 3T FHR FHYaT

4) greater the area where you would accept

Correct Answer: smaller the area where you would reject
BICT 819 8T 3T IEAHR Heel

Candidate Answer: greater the area where you would accept

QID : 72 - The mean square of error denoted as MSE = . Where SSE is the sum of squares of error, n is number of data points and m is number of
samples.

Ffe &1 AT T A MSE = & 9 3 gt a1 &1 STeT SSE e & it o et €, n 31Rs g3t i wem § ik m gt iy wear g

Options:
1) SSE/(n-m - 2)

2) SSE/(n + m)
3) SSE/(n + m - 2)

4) SSE/(n - m)
Correct Answer: SSE/(n - m)
Candidate Answer: SSE/(n - m - 2)

QID : 73 - The mean square for treatment is 9. The mean square for error is 4. Calculate the F-statistic.

gelTsl & T aTey 99 9 §1 3 & forw avesy e 4 §1| F-317h3 Y arorem &Y

Options:
1) 1.5

2)2.25
3) 0.44

4) 0.66
Correct Answer: 2.25
Candidate Answer: 0.66

QID : 74 - An ANOVA procedure is used for data that was obtained from four sample groups each comprised of five observations. The degrees of freedom dF; and
dF; for the critical value of F are respectively.

Tk T (ANOVA) S5 31 3iierst & fT ggere &1 STl & S IR w1l Sgh & e fonam arar o fSiers @ yedsr & uier raelichet affiet A F & Hgeaqol Hed & faw
g dFy 3R dF, $T 2l sween: gl
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Options:

1) 3 and 16

33k 16

2)3and 19

3319

3)4and 16

43R 16

4) 4 and 19

43R 19

Correct Answer: 3 and 16

33t 16

Candidate Answer: 4 and 16

43R 16

QID : 75 - When an analysis of variance is performed on samples drawn from k populations, the mean square between treatments (MSTR) is
(Where SSTR is treatment sum of squares and SST is total sum of squares.)

ST k HTETET ¥ T I Fogstt IR fewrar 1 freervor famam St §, & saret & drer & Ared 39t (MSTR) &1 (STgr SSTR Taif &7 gelteT T & 3 SST
3t T ol AT B 1)

Options:

1) SSTR/(k - 1)

2) SST/(k - 1)

3) SSTR/(k+1)

4) SST/k
Correct Answer: SSTR/(k - 1)
Candidate Answer: SSTR/(k - 1)

QID : 76 - Convert the annual trend equation Y = a + bX into monthly trend equation.

A ggfed FHEROTY = a + bX F A ygfea aaiator # aRafdd w1
Options:

1) Y = a/12 + (b/12)X

2)Y = 12a + bX

3) Y = a/12 + (b/144)X

4)Y =a+ 12bX
Correct Answer: Y = a/12 + (b/144)X
Candidate Answer: Y = a/12 + (b/144)X

QID : 77 - What is the shape of the second degree trend equation?

a3 ygfedt & HAeRIoT T TR AT 872
Options:

1) Hyperbolic
et

2) Parabolic

RIS

3) Exponential

Tdi

4) Sinusoidal

RurEsse

Correct Answer: Parabolic

RIS

Candidate Answer: Hyperbolic

EICNEIES ]

QID : 78 - If the sales (Y) Vs time (X) trendline with 2010 as origin is Y = 16.25 + 1.25X, then what will be the trendline with 2015 as origin?

IfE e F T 7 2010 & A1 R (Y) 0037 T (X) FifFTHh varga@ss @1 (E3a15e) Y = 16.25 + 1.25X §, A6 F{eT & ®7 & 2015 & HY WFIHT Jarggaa 1@r
(EzemST) T g1o?

Options:
1) Y =10 + 1.25X

2) Y =225 + 6.25X
3)Y =10 + 6.25X

4)Y =225+ 1.25X
Correct Answer: Y = 22.5 + 1.25X
Candidate Answer: Y = 22.5 + 1.25X
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QID : 79 - If the sales (Y) trend is captured by the equation Y = 500 + 20t - t2 then the maximum sales will be achieved when the time t = years .

3R 5 (Y) T e T FHEROT Y = 500 + 20t - t? G@RT GRITAT ST &, & 3ifeas s a8 ure 1 el § 9 aw t = agl
Options:

1) 20

2)5

3) 15

4) 10

Correct Answer: 10

Candidate Answer: 10

QID:80-Y=500+0.75t-2.5 t2 represents the trend for output of a copper mine with 2010 as origin. Unit of Y is tonnes and unit of t is year. What will be the
mine's copper output (in tonnes) in the year 2020?

Y = 500 + 0.75t - 2.5t? FeT & &9 # 2010 F T T AaT W & 3cqesT 1 wgfed 1 wfafaftea w=ar &1 Y 1 gfaie ot & 3R t 6 5om$ af &1 a¥ 2020 F @ &1 a9
T 3cUTGT (ToT ) FIT gRI?

Options:
1) 185.5

2) 346.5
3) 257.5

4) 742.5
Correct Answer: 257.5
Candidate Answer: 257.5

QID : 81 - The fitted annual sales trend is Yy = 180 €02t (Where t is in years and Y is in Rs lakhs) On average, sales are absolute amount each year.

e a1f¥ies sy wgfeet Yy = 180 €02 1 (agt tast ¥ § 3R Y & 7 3 §) 1 3iwas, gede av faghr EURURE
Options:

1) rising by a declining

fRTae & 93 W &

2) falling by a declining

fRTae ¥ PR T

3) falling by an increasing

3fg & FROT AR @I e

4) rising by an increasing

fg & HRT 5 T

Correct Answer: rising by an increasing
g & PRT 9 @ E

Candidate Answer: rising by an increasing
I % HROT I T §

QID : 82 - A pattern of variation of a time series that repeats every year is called

Ueh HHY Al & [3=Ro1 A ggfee S g3 Al alg¥rs el 8, 39 T AT &
Options:

1) Cyclical

TR

2) Trend

wafe

3) Hyperbolic

EICNRIIESEC]

4) Seasonal

e

Correct Answer: Seasonal

Hiaar

Candidate Answer: Cyclical

T
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QID: 83-
If the moving average for the year 2010 is 23.6, calculate
the moving average for the year 2011 using the data from
the given table?

i 99 2010 % T FaT 9T 23.6 2, A1 =1 T2 A0 &
AHET T ITART F4d gT a9 2011 % forw =g shaa i

VT HL?
/ Sales (in Rs Lakhs) /
Year / |l .
s (ar@ I #/)
2005 20
2006 22
2007 23
2008 24
2009 21
2010 24
2011 27
2012 22
2013 30
2014 28
2015 32
Options:
1) 24.33
2) 24
3) 26.33
4) 24.8

Correct Answer: 24.8
Candidate Answer: 26.33

QID : 84 - The linear trend equation developed for the annual sales Y (in Rs lakhs) of ABC Manufacturing Company is Y = 500 + 6t, where t is in years. By how
much are sales increasing per year?

ABC 3eNeT-Te &uet Y arfiies feh ¥ (o &.7) & fow fesf@e i@ ygfea &1 qefieor Y = 500 + 6t §, St t asf & §| gfer a¥ fshr & fanaet gfg el 82
Options:

1) Rs 6,00,000

6,00,000 &

2) 6 percent

6 gfaera

3) 6 times the number of years
TTeT T {1 A 6 AT

4) in multiples of 6

6 & IUTh H

Correct Answer: Rs 6,00,000
6,00,000 &

Candidate Answer: Rs 6,00,000
6,00,000 &

QID : 85 - For the linear trend equation Y = a + bt, which symbol represents the average change in the dependent variable for each unit change in time?

Y& vgfed & FHEROTY = a + bt & oI, Fiet &1 weiier Tt 3 ufay s & forw e =R 31 sitea aRader & wfafafea awar 82

Options:
1)a

2)t
3)Y

4)b
Correct Answer: b
Candidate Answer: Y

http://thepracticetest.in/cs_cgletZ_Eﬂa‘s\é&\@ &deMQ{ ﬁ’n&?ﬁp@d&@cgdé&lm &t WWI@WW@BE&%%?M 07fc05177712c90c3885¢



4/13/2018 Download More Papers $tafhSelestion Gonimisiot Jobs Alert.In

QID : 86 - If the trend equation to forecast demand Y (in Rs lakhs) for the required month (t) is Y = 100 + 20t - 5t2. What is the seasonally adjusted demand
forecast for month 3 for which the corresponding seasonal index is 1.25?

T 3aeT Ag (t) & AU Agaraa |t Y (@ § #) & fav ygfea geeaorY = 100 + 20t - 5t2 &1 e 78 & v Atwedt garifaT Ji qdiegae w1 g, Sas
Tore waftre wiwer gaee 1.25 §?

Options:

1) 143.75

2) 115

3) 92

4) 123.25
Correct Answer: 143.75
Candidate Answer: 143.75

QID:87-Y=100-04t- t2 represents the trend for sales of movie tickets in a multiplex with day before release as origin. Unit of Y is in Rs thousand and unit of t
is days. Sales for day 3 are than sales of day 1.

Y =100 - 0.4 t - t? 7T & & 7 ST g1 § Ul Uk AediearFd 7 Rhed Ract 1 e & e yqfea &1 sfafaftes wxar €1 Y 1 5918 gk € 31 § 3R t i 578 R 81
e 1 &y fghr &y ot 3 foeT 3 v faghr gl
Options:

1) 8.9% greater

8.9 gfaera ifes

2) 9.8% lesser

9.8 gfcerd &

3) 8.9% lesser

8.9 gfcerd &

4) 9.8% greater

9.8 gfaera & 3w

Correct Answer: 8.9% lesser
8.9 ufaera &7

Candidate Answer: 8.9% greater
8.9 wfdera 3rftsh

QID : 88 - If the quarterly trend equation is given as Y = a + bX, then the annual trend equation will be

I Fofae ggfed FHEIOT A Y = a + bX & & 7 m 0 §, A A Foier Foranwor g

Options:
1) Y = 4a + 4bX

2)Y = 4a + bX
3)Y =a+4bX

4)Y = 4a + 48bX
Correct Answer: Y = 4a + 48bX
Candidate Answer: Y = 4a + 48bX

QID : 89 - The last period’s sales forecast was Rs 100 lakhs and demand was Rs 90 lakhs. What is the simple exponential smoothing sales forecast (in Rs lakhs)
with alpha of 0.4 for the next period?

el 3rafer i fsht T JegareT 100 @ ¥ AT AR #HfeT 90 o % | 3erelt 3raf® & AT 0.4 % 3rewT & WY T wrctieh Frewett shr qaiegaret (are & #) Far §?

Options:
1) 94

2) 106
3) 9%

4) 104
Correct Answer: 96
Candidate Answer: 104

QID : 90 - If the trendline with 2016 as origin is Y = 125 - 3t -2t2, then what will be the trendline with 2014 as origin?

I 7T 3 T 3 2016 & WY FFFHT TaEHTS @ (E3e18eT) Y = 125 - 3t -2 &, A 7 & T 7 2014 3 T WiFFHT Taeqaes 1@ ($5emssT) F41 grefr?
Options:
1) Y = 127 + 5t -2t2

2)Y = 123 + 5t -2t2
3)Y = 125 + 7t -2t2

4)Y =127 + 7t -2t2
Correct Answer: Y = 123 + 5t -2t2
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Candidate Answer: [ NOT ANSWERED ]

QID:91-
Use the data given in the table to calculate the Price Index

using Laspeyres Formula.

o TTouit # 2 o siwET # T SuET w5

Item / TF] PO Qo P1 Q1

X 8 3 5 4
Y 9 5 6 4
Z 12 4 10 6

Options:

1) 137.6

2) 72.65

3) 122.3

4)81.7

Correct Answer: 72.65
Candidate Answer: [ NOT ANSWERED ]

QID : 92 - From the prices and quantities of the base and current year Laspeyres and Bowley Price Indices were calculated as 124 and 130 respectively. Find the
Paasche price index for the same data.

FHTER 3 AT A & oFENIH 3R T3 Hod Garchich & Hedl I 0T HA: 124 3R 130 & &9 & B 715 Y| 53 3tienst & AU a1 HoF Garehich #Ad |

Options:
1) 127

2) 136
3) 118

4) 121
Correct Answer: 136
Candidate Answer: [ NOT ANSWERED ]

QID : 93 - Paasche Quantity Index is given by the formula

TR AT GaHE g San e e g1

Options:
1) (2QnPo)/(3QoPo)

2) (3QnPn)/(2QoPn)
3) (2QoPn)/(2QoPn)

4) (2QnPn)/(2QnPo)
Correct Answer: (3Q,P,)/(ZQoPn)
Candidate Answer: (3Q,P,)/(2QoPn)

QID : 94 - The index number for the price of diesel in 2015 was 125 and in 2016, it was 140, on a base year of 2011. What is the percent increase in price of diesel
from 2015 to 2016?

ay 2015 7 SsTer 1 FrFAd & AT 2011 & AR I R Fahis FEAT 125 A 3R 2016 # A5 140 2| G 2015 A 2016 T Srofer B Hiaret A fhelat gfererd I g% 87

Options:
1) 25

2) 40
3) 12

4) 15
Correct Answer: 12
Candidate Answer: 12

QID : 95 - A worker earned Rs 15,000 per month in 2015, when the Consumer Price Index was 250. If the base period is 2000, what are his earnings per month in
2015 in terms of value of Rs. in the year 2000?

T FHART o 2015 F Ui AE 15,000 & FA &, T STH AT Hed Fahien 250 AT| AR TR 3rafer 2000 §, aF 2015 F A 2000 7 T & o7 F FeeT 7 ufl 715 366
T (FH) FATE?
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Options:
1) Rs 37,500

2) Rs 6,000
3) Rs 10,000

4) Rs 27,500
Correct Answer: Rs 6,000
Candidate Answer: Rs 6,000

QID : 96 - The price index in 2016 is 116 using 2011 as base year. What will be 2011 price index if base year is changed to 2016?

YR 3§ & § & 2011 HT 3TART A §T 2016 F FeT aehish 116 &1 e 3R I 2016 & AT et AT ST A 2011 7 Fed Ferehich F41 gamr?

Options:
1) 134.5

2) 86.2
3) 84

4) 132
Correct Answer: 86.2
Candidate Answer: 132

QID : 97 - The Fisher's Index

R &7 g gl

Options:

1) satisfies neither the Time Reversal Test nor the Factor Reversal Test

o A TAT ShATT TUETOT AR oF & reFeT SeshauT TNATOT Y HST el &

2) satisfies the Time Reversal Test but not the Factor Reversal Test

THT SchHUT TIETOT Sl HISC AT § Afehel heFe SesharoT GLETUT T oT8T hiell
3) satisfies both the Time Reversal Test as well as the Factor Reversal Test
TAG SSHHAVT TIETOT & 1 & BT SeshaAvT TETT At oY HIST el &

4) satisfies the Factor Reversal Test but not the Time Reversal Test

theFeX ScshaTUT TRGTUT &Y TS AT & Afehel THIA Scsharol TRIGTOT T 70
Correct Answer: satisfies both the Time Reversal Test as well as the Factor Reversal Test
THI SchAUT TETT & ATY &1 there SchauT TETOT Slell 3l HIST LTl &

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Calculate Fisher's Price Index (in %) using the following data:

2QoPn = 2700,
2QnPnh= 2250,
2QoPo= 2750 and
>QnPo= 2100

TAEATATET 37ehsT T ITTT ¥k TR & FHoT Felehieh (% H) T 0T Y

3QuP, = 2700,
$QnPp = 2250,
3QoPo = 2750 3R
¥QnPo = 2100
Options:

1) 157.1

2) 63.6

3) 102.5

4) 95
Correct Answer: 102.5
Candidate Answer: [ NOT ANSWERED ]
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QID : 99 - Find the Value Index (in %) using the following data:

3QoPn = 2500,
2QnPn = 2750,
2QoPo = 2250 and
3QnPo = 2000.

TAFEATATET 37ehsT T ITTIT dXeh AT Fahieh (% H) AT HL:
2QoPn = 2500,

2QnPn = 2750,

3QoPo = 2250 3R

¥QnPo = 2000

Options:

1) 122.2

2) 125

3)112.5

4) 137.5
Correct Answer: 122.2
Candidate Answer: [ NOT ANSWERED ]

QID : 100 -

If the ratio between Laspeyres and Paasche price indices is
75 : 77, then find the value of P using the data given in the
table.

= S Eed &% G120 HIAT GAFH® & S0 B AT 75:
77 &, 1 ATt F 23U Y ST # SUE0T B P o e
EIGEEY

item /¥  Base year / 3TUR T Current year [ To#T=T a9
Prlcefﬂ?ﬂ'l Quantity / T30 | Price / F[#T | Quantity / AT

X 10 8 12 10
¥ 5 & P 5
Options:
1)5
2)6
3)4
4)7

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]
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